BT TRIA O - HEHHEE X T EFEJ'ZiGEQH KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,933 87279 41,708 45571
RIRET1T 4 12 6 6
RIRET2T 24 53 25 28
RIRET3T 154 493 247 246
RIRET4T 386 996 486 510
B 568 1,554 764 790
REH 2,646 6,273 2,937 3,336
L&A 4,184 9,618 4,567 5,051
5E 2,489 6,014 2,908 3,106
B AN 1,235 2,839 1,339 1,500
BERT 1,109 1,792 852 940
BER2T 718 1,406 667 739
BHERST 391 903 451 452
g 2,218 4,101 1,970 2,131
BARE 251 650 325 325
= 2,188 5,312 2,504 2,808
hERE 611 1,451 663 788
e 2,366 5,255 2,535 2,720
25 L ET 2,262 5,285 2,531 2,754
B &AL BT 68 152 61 91
HEFILET1T 581 1,279 604 675
HEFILET2T 593 1,361 639 722
HEZFILAT3T 578 1,363 666 697
g 1,820 4,155 1,970 2,185
B & it B Fr ET 676 1,658 806 852
BHEREBET1T 598 1,248 595 653
BHERERET2T 752 1,788 871 917
BHERERETST 766 1,671 754 917
HEFMHET4T 453 1,004 491 513
HEHFMHETST 792 1,659 796 863
HEHFHET6T 863 2,026 974 1,052
HEFRET7T 847 1,973 956 1,017
HERERETST 56 172 82 90
5| 5127 11541 5,519 6,022
HEF R FET 1,784 3,915 1,909 2,006
S|EFET1T 569 1,542 766 776
S|EFET2T 756 1,823 868 955
S|EFET3 T 725 1,472 699 773
g 2,050 4837 2,333 2,504
ERE1T 561 1,372 664 708
EIRET2T 368 942 467 475
EREIST 461 1,325 642 683
EIRETAT 682 1,561 720 841
EIZEIST 470 969 492 477
g 2,542 6,169 2,985 3,184
MEH 2,810 6,432 3,040 3,392
J\THET1T 24 27 9 18
J\THET2T 25 63 32 31
J\THEI3T 57 130 62 68
B 106 220 103 117
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